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Category-4 IMC 2022

oo oo ) w5

Find the product of ¢ and 5.

29 1 7
A) 30 B) 5 Q) 4 D)2

2. In the figure, |AB|=|AC|, |BC|=|DC| and m(£DCA)=18°. Find m(£BCD).

A) 18° B) 72° C) 48° D) 36° A

3.1f x,yez and 2" +2"=3""-3", thenfind x+y.

A) 2 B) 4 C)3 D)5

4. If

and 3a—b+2c=66, then find a+b+c.

W | S

L2 £
2 4

A) 36 B) 24 C) 30 D) 54

5. In the figure ABLAC, |AC|=9 cm, |AB|=12 cm and |DB|=5 cm. Find the area of
triangle ADB

: A
A) 18 cm? B) 72 cm? 9
¥
C) 69 cm? D) 28 cm?
D 5 B (o

6. B, C, P, and K are the centers of four circles in the given figure. If
|AB|=|BC|=|CD|=6 cm, find the area of the shaded region.

mc i

A) 18m B) 361
C) 27m D) 9nt




7.f x+y=3,y+z=7 and x+z=6, find the value of xx yxz.

A) 10 B) 20 C) 100 D) 50

8. Ricardo needs 75% on a final test to receive a C for a course. If the exam has
180 questions, how many questions must he answer correctly to get C?

A) 150 B) 93 C) 105 D) 135

9. Mr. Tito is 2 years more than 3 times as old as his son. If the difference
between their ages is 24, how old is Mr. Tito?

A) 35 B) 12 C) 24 D) 29

10. Find the area of triangle ACD in the cube if the edge length of the cube is 43
cm. N

{

A) 24+/3 cm? B) 24+/2 cm?
C) 612 cm? D) 6v/2 cm?

x=2 if  x>3
11. Given that f(x)={x +3x -2 if 1<x<3,find f(-2)+ f(0)~ f(1) + £ (5) .
xX+6 if x<I

A)6 B) 12 C)4 D) -10
12.1fa =2000and b = |3a? —a + 3| — 3|a? + 1| + 11a + 1,
find the value of b.

A)O B) 20001 01 D) 2000

13. Given a® + b?2 = 4 3 and axb=9. Find the positive value of (a — b).

A) 12 B)9 C) 34 D)5

(024



14. According to the following parallelogram, find the sum of angles ZAED and

ZFEC.
D E C

A) 70° B) 80°
C) 90° D) 110°

305

A B

15. Given that f(x) =5 — x and g(x) = x + 4, find the area enclosed by f(x), g(x) and
X-axis.

A) 20 square unit B) 20.25 square unit

C) 20.50 square unit D) 20.75 square unit

16. Given that — m6 +m6 +m6 —— =32, find the value of m.
3 +3 +3 +3°+3° 43

A)6 B) 7 C) 8 D)9

17. Given a and n are natural numbers where (a X 10™) is the scientific notation
of a 20-digit natural number, find the maximum difference of n — a.

A) 19 B) 18 C) 30 D) 40

18. Given that 22 = 40, 3P = 230, 5€ = 620, which of the following is correct?

A) b<a<c B) a<b<c C) c<b<a D) b<c<a

19. The following figure shows that points A, B, E, and F are on the circle. Find the
sum of angles £CBF and 2CFB.

A) 170° B) 180°
C) 90° D) 110°




20. According to the following progression, how many matchsticks will be at the
100" step?

1.Step 2.Step 3. Step
A) 300 B) 301 P
C) 302 D) 400 N e N S

21. How many numbers between 80 and 320 are exactly divisible by 2, 3, and 10?
A) 7 B) 8 C)9 D) 10

22. The figure shows two rectangles. The length of the bigger rectangle is 36 cm,
and the perimeter of the smaller rectangle is 22 cm. Find the area of the shaded
region.

£
A) 540 cm? B) 564 cm? =
l4cm L:1%eme
C) 516 cm? D) 534 cm?
§
o
L4 0 —6b
23.If y— , then find the value of @ —11.
A) 53 B) 19 C) 51 D)3
24. If cos6?zg and 0<6<90°, find tan 8 — —
5 sin @
A2 B) -~ C) -+ D) -
15 15 12 12
25. If 3/4_”= 64, then find the value of n.
A) 10 B) 13 C) 15 D) 18

26.1f a—b+c =0, then find the value of a* —b* +ac+bc.

A) 0 B) @ c) ab D) C+a

(04



27. Given that 1. 1__4 , find g+é .
a b a-b b a
A) 2 B) -1 01 D)0

28. A circle is inscribed in an equilateral triangle A4BC of side 6 ¢m . What is the
area of any square inscribed in the circle?

A
A) 3 cm’ B) 6 cm’
C) 9 cm® D) 12 cm?
e
B c
J561'-459’ Jao
29. Calculate > 5 20+4\/E SN
45%0.15+45+2 3
7 7 3
A) 131 B) 250 C) 242 D) 125
i ? RN e
30. How tall is the house? é o

= {Q

A) 230 B) 20 C) 540 D) 270 cm

31. What is the following number in this sequence 12, 11, 10, 14, 8,17, 6, ....
A) 21 B) 20 Q)7 D)5

32. Solve the equation 3x—(2—x)—-4(3-2x)=34 .

A) 60 B) 36 C)4 D) 2

[0



33. In the triangle below |4B|=|AC|=|BC|=12cm, |[EA|=8cmand EF L BC. Find |CF|

C

F
A)1lcm B)1.5cm

C)2cm D)2.5cm

34. The operation is defined on the set A = {1, 2, 3,4, 5} as shown in the table.
Findxif [2% x)% 4]k 2=6

A) 1 B) 3
C)5 D)2

Lo A e
‘0N o n s

QA W N O
G B W N
O RN Ny

1 2 3
35. Calculate + + \

J0.01  0.04 0.09
A) 0.3 B) 30 C) 10 D) 20

36. Calculate {‘/78+%/25+%/10—\/Z .

A)5 B) 2 C)9 D) 3

37. Find the 25% of 4°9.

118

A) 461 B) 210 C) 259 D) 2

38. Which number should be in the triangle?

( 2500 ] (‘3000 /2\ | 2000

A) 1000 B) 1500 C) 3500 D) 500

[0



39. Calculate (18+3)+7x3-5+1,

A)7 B) 3 C)-3 D)5

40. Given that x and y are integers with =3 < x <7 and —1 <y <13, find the
biggest possible value of 3x + 2y.

A) 100 B) 50 C) 27 D) 47



Answers:
1.0) 47 2.C)48° 3.B)4 4.D)54 5.A)18cm? 6.C)27rnt 7.A)10 8.D) 135

9.A)35 10.A)24v/3cm? 11.A)6 12.B)20001 13.D)5 14.A)70°
15. B) 20.25 square unit 16.A)6 17.B) 18 18.C)c<b<a 19.A)170° 20.B) 301

21.B)8 22.C)516cm? 23.A)53 24.D) é 25.C)15 26.A)0 27.A) 2

28.B) 6cm’ 29.D)125 30.D)270cm 31.B)20 32.C)4 33.C)2cm
34.A)1 35.B)30 36.D)3 37.D) 2" 38.B)1500 39.D)5 40.D)47



